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BoinosHuam ctygentol CITACKA
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CmupHoB Amutpuin Onerosuy
Op/10B AHapen AHapeeBuY
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PacyeTbl M pa3mepbl
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y=ax’+c; y=0, Xx=67,15
a*67,15° +20,2=0
a=-20,2/67,15°=-0,0044798073
YpaBHeHWE HUXKHEN
napabo/ibl:

y =-0.0044798073x%+ 20.2

y=ax’+¢; y=11,5, X=67,15
a*67,15% + 22,6=11,5

a*67,15° =-11,1

a=-11,1/67,15> =-0,0024616763
YpaBHeHUe BepxHen napabobi:
y=-0,0024616763X> + 22,6



D/1IMNTUYEeCKaA YacTb MoCTa lleTpa

BE/IMKOIO
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flaHHble A/17 NOCTPOEHUA
3/1/1MCa

a=L/2=26,5/2=13,25M
b=4m

C=V13,252 -42=12,6381m
E=c/a; E=12,6381/13,25
E=0,953344







